HI/NER - P FR-TILEFFRAERER

(BfL: 4 Sv.h)

. = 50cm
No| MIEH |IBEA e & TS REOT T 5 W
1 BEHINER 0.06 - 0.07 -
2 BiREEER 0.06 - - -
3 KREEDFER 0.07 - 0.07 0.07
4| 4R118 = ZINERR 0.06 - 0.07 -
5 % [FERFR 0.07 - - -
6 | s ek 0.07 - 0.06 -
7 = o B/NERR 0.07 - - -
8| 4H12R TBIRNERR 0.06 0.06 0.06 -
9 4B 5 PR EERR 0.07 - - -
10 BUR/NERR 0.07 - 0.07 0.08
11| 4868 | M |KEAE/NMERKR 0.06 - 0.07 0.07
12| 4B138 | AIE [AmEREPER 0.05 - - 0.06
13 sa58 | st KIE/NERR 0.08 - - -
14 BN 0.10 - - -
—— < 50cm

No| BIFER [#X%£ W % B ST AR = %
1 BEINER 0.06 - 0.07 -
2 BIRESEER 0.07 - - -
3 KEE/NFER 0.06 - 0.06 -
4 4A20H 5 FINER 0.06 - 0.07 -
5 % [FEBFR 0.07 - - -
6 &k 0.08 - 0.06 -
7 = th BN 0.07 - - -
8| 4A21H IR INERR 0.07 - 0.06 -
9 A 188 YRR R 0.07 - - -
10 BUR/NERR 0.07 - 0.08 0.09
11| 48198 | #i | KEBE/NER 0.07 - 0.07 0.08
12| 48258 | AIF [AIREREPER 0.05 - - 0.06
13 sA18E | g jclﬁll\iffff 0.08 - - -
14 TN FERR 0.10 - -

BIES: 7OAWRENUFL—2ar AP —_AAA—H(TCS—172)




